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2AM: N
HE: GEHE =S (QUDDHF/ XL - WYX
Sl SN N2 BB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N & ot 21,298,566 22,360,482 A 1,061,916
= 1,190,193
< 20,108,373
ANETHE SE5(LSSHEY/NLHE - HEXH) 21,262,760 22,322,816 A 1,060,056
= 1,190,193
< 20,072,567
ORI N 21,262,760 22,322,816 A 1,060,056
= 1,190,193
< 20,072,567
METLEE M 811,667 321,221 490,446
201 Let24E] 13,600 11,600 2,000
01 At 22l 13,600 11,600 2,000
OXNLEANE 2Z 4,600
OXLN & M= HES 2 2,000
ostecI 24 1,000
O3s8HAFE =3 6,000
202 o4dl 27,000 27,000 0
01 = LH o4 1l 27,000 27,000 0
OXNgN=5U & XNEA 28 g2 N 27,000
303 &3 104,000 104,000 0
01 L& = 104,000 104,000 0
OXNYAME HEI AT AlY 9,000
OXLN HMgHE AT AY 20,000
OMe+= Mgt A2 AY 20,000
ONA+=e HARLHE A2 AlY 5,000
OXNEANE 2 SEYEI A2 AY 50,000
306 ¢ 2 138,484 127,475 11,009
01 &3 138,484 127,475 11,009
OXNLNARE = 138,484
308 XXM SO0 A 23,574 23,574 0
10 3|2 SO EAEEALS I 23,574 23,574 0
OXNYHNA+LHSAAE S22 23,574
403 XIS SKH=0l& 505,009 25,572 479,437
02 SO 2SO HEHAHE X 2| &AL H 505,009 25,572 479,437
OXMU XNMA=LHEANLE 7= 64,707
OXMOU XNFMEEANAY 2= 440,302
THY =23 XsS =2 50,000 50,000 0
303 Z& 3 50,000 50,000 0
01 243 50,000 50,000 0
OZAHY H==ZaaH 29 50,000
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEE XNEA 2HAME 29 12,500 12,500 0
201 £B-2d| 11,200 9,800 1,400
01 At 22l 11,200 9,800 1,400
OXNLANA2 L INFHA AZ =< 11,200
202 o4dl 1,300 2,700 A 1,400
01 = LH o4 1l 1,300 2,700 A 1,400
OXEAl Olodld & 28 Xl 1,300
=123 XN 19,146,000 20,514,000 A 1,368,000
308 XtXIEHHSOIA 19,146,000 20,514,000 A 1,368,000
02 8+N2F= 19,146,000 20,514,000 A 1,368,000
OXE&A =nRs 19,146,000
MHSZAL =& 30,200 30,700 A 500
202 04l 30,200 30,700 A 500
01 = LH 4 Hi 30,200 30,700 A 500
ORI AN BN A 8,800
OXZH SENFEZA 9,400
OANZ MRXE 34 12,000
NeA HESA =& 16,000 16,000 0
201 £B-2dH| 16,000 16,000 0
01 At 22/l 16,000 16,000 0
Oz & JIEEAH AMIEENY HI M= 16,000
HE =& JpAB A NA(=1) 1,190,193 1,372,195 A 182,002
= 1,190,193
308 XXM SO0l A 1,190,193 1,372,195 A 182,002
= 1,190,193
01 IXNHHBNEES 1,190,193 1,372,195 A 182,002
OME =8I 28 - SAl HIE 1,190,193
= 1,190,193
NEA Meg2el =8 6,200 6,200 0
202 44l 6,200 6,200 0
01 = LH 4 1l 6,200 6,200 0
Ok - ANz &8s HSBAX, It =M 4,200
OAZ XNEEZ 2,000
HHE2HZHI(ME D) (JEH/IIEL) 35,806 37,666 A 1,860
JlE &3l 35,806 37,666 A 1,860
2EM28 Jl2Z 35,806 37,666 A 1,860
201 €24 20,266 20,266 0
01 At 22l 20,266 20,266 0
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M HHE2A AU (ME ) (IIEH/IIE)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORAM2Y AtR22ltl 20,266
202 oddl 11,340 13,200 A 1,860
01 = LH 4 1l 11,340 13,200 A 1,860
ORMEE =U0HI 11,340
203 YR =&l 4,200 4,200 0
04 ENSSHRF=EHI 4,200 4,200 0
©2521 0l ot 350,000& »12& 4,200




